










Six persons Y, L, P, V, M and W purchase different vegetables from a department store. These 

vegetables are Potato, Spinach, Tomato, Cabbage, Cauliflower and Peas not necessary in the 

same order. Only 2 person purchase between Y and V, who purchase Cauliflower. M purchase 

before W and after the one who purchase Potato. L neither purchase potato nor purchase 

spinach but purchase immediate after the one who purchase Cabbage. P purchase after L but 

before the one who purchase Peas. W does not purchase Pees. Y purchase before L. The 

number of person purchase before the one who purchase Tomato is same as the number of 

person purchase after M, who purchase after L. 

छह व्यक्ति Y, L, P, V, M और W एक क्तिपार्टमेंर्ल स्र्ोर से क्तिक्तिन्न सक्तजियाां खरीदते हैं। ये सक्तजियाां आल,ू पालक, 

र्मार्र, गोिी, फूलगोिी और मर्र हैं, िरूरी नहीं क्तक इसी क्रम में हों। Y और V के बीच केिल 2 व्यक्ति खरीदारी करते 

हैं, िो फूलगोिी खरीदता ह।ै M, W से पहले और आल ूखरीदने िाले के बाद खरीदता ह।ै L न तो आल ूखरीदता ह ै

और न ही पालक खरीदता ह ैलेक्तकन गोिी खरीदने िाले व्यक्ति के ठीक बाद खरीदता ह।ै P, L के बाद लेक्तकन मर्र 

खरीदने िाले व्यक्ति से पहले खरीदता ह।ै W पीस नहीं खरीदता ह।ै Y, L से पहल ेखरीदता ह।ै र्मार्र खरीदने िाले 

व्यक्ति से पहले खरीदने िाले व्यक्तियों की सांख्या, M के बाद खरीदने िाले व्यक्तियों की सांख्या के समान ह,ै िो L के 

बाद खरीदता ह।ै



Six persons Y, L, P, V, M and W purchase 

different vegetables from a department store. 

These vegetables are Potato, Spinach, Tomato, 

Cabbage, Cauliflower and Peas not necessary in 

the same order. Only 2 person purchase between 

Y and V, who purchase Cauliflower. M purchase 

before W and after the one who purchase Potato. 

L neither purchase potato nor purchase spinach 

but purchase immediate after the one who 

purchase Cabbage. P purchase after L but before 

the one who purchase Peas. W does not purchase 

Pees. Y purchase before L. The number of 

person purchase before the one who purchase 

Tomato is same as the number of person 

purchase after M, who purchase after L. 



MINTS RAGSE CULTS NIGAS PEMTO

If the given words are arranged in the order as they appear in a dictionary from left to 

right, which of the following word will be the fifth from the left end?

यक्तद क्तदए गए शजदों को शजदकोष में बाएां से दाएां क्रम में व्यिक्तस्ित क्तकया िाता ह,ै तो क्तनम्न में से कौन सा

शजद बाएां छोर से पाांचिाां होगा?

(a) MINTS

(b) RAGSE

(c) CULTS

(d) NIGAS

(e) PEMTO



MINTS RAGSE CULTS NIGAS PEMTO

If the letters of the given words are arranged in alphabetical order, then 

within the word how many meaningful words will be formed?

यक्तद क्तदए गए शजदों के अक्षरों को िर्ाटनकु्रम में व्यिक्तस्ित क्तकया िाए, तो शजद में क्तकतने 

अिटपरू्ट शजद बनेंगे?

(a) Four

(b) Three

(c) Two

(d) One

(e) None



MINTS RAGSE CULTS NIGAS PEMTO

How many letters are there between the first Letter of third word from left end and 

Last Letter of the second word from right end (According to the alphabetical 

order)?

बाएां छोर से तीसरे शजद के पहले अक्षर और दाएां छोर से दसूरे शजद के अांक्ततम अक्षर के बीच क्तकतने 

अक्षर हैं (िर्ाटनकु्रम के अनसुार)?

(a) Eight

(b) Nine

(c) Ten

(d) Fifteen

(e) Sixteen



MINTS RAGSE CULTS NIGAS PEMTO

How many vowels are there in between the first letter of first word from left and 

last letter of last word from right (According to the alphabetical order)?

बाएां से पहले शजद के पहले अक्षर और दाएां से अांक्ततम शजद के अांक्ततम अक्षर के बीच क्तकतने स्िर हैं 

(िर्ाटनकु्रम के अनसुार)?

(a) Two

(b) Three

(c) None

(d) Five

(e) None of these



MINTS RAGSE CULTS NIGAS PEMTO

How many letters are there between the first letter of last word from left and first 

letter of the second word from left (According to the alphabetical order)?

बाएां से अांक्ततम शजद के पहले अक्षर और बाएां से दसूरे शजद के पहले अक्षर के बीच क्तकतने अक्षर हैं 

(िर्ाटनकु्रम के अनसुार)?

(a) Four

(b) Fourteen

(c) Twenty

(d) Six

(e) One



In the given word ‘ALONGSIDE’ the consonants are written first and 

vowels are written second in alphabetical order then the vowels are 

changed to the next letter and the consonants are changed to the previous 

letters as per the alphabetical series, then which letter is fifth from the left 

end.

क्तदए गए शजद 'ALONGSIDE' में िर्टमाला के क्रम में पहले व्यांिन और दसूरे में स्िर 

क्तलखे िाते हैं क्तफर स्िरों को अगले िर्ट में बदल क्तदया िाता ह ैऔर व्यांिन को िर्ाटनकु्रम में

क्तपछले अक्षरों में बदल क्तदया िाता ह,ै तो कौन सा अक्षर िर्ाटनकु्रम से पााँचिााँ ह ैबायााँ छोर।

1. R 2. C 3. B 4. J 5. P



How many such pairs of digits are there in the number 

‘73951286’, each of which has as many digits between them in the 

number (both forward and backward direction) as they have 

between them in the Numeric Series? 

सांख्या '73951286' में अांकों के ऐसे क्तकतने िोडे हैं, क्तिनमें से प्रत्येक के बीच

सांख्या में (आग ेऔर पीछे दोनों क्तदशाओ ां में) उतने ही अांक हैं क्तितने उनके बीच 

सांख्यात्मक श्रांखला में हैं?

1. Two 2. Three 3. Four 4. More than Four 5. None



Statements: 

H < Y < U ≥ Q = N > R; S = T ≥ G = V > H 

Conclusions: 

I. U < R 

II. S ≥ U



Statements: 

T ≥M = K < B = G < P ≥ V > L; X > Z > T 

Conclusions 

I. X > P 

II. P ≥ T



Statements: 

P < Q ≥ G≥ I ≥ E; C ≤ P; C > U 

Conclusions: 

I. U > I 

II. P ≤ E



Statements: 

A>M>R=F≥Z<X<C ≥ B>N 

Conclusion: 

I: A≥Z

II: Z<V



Statements: 

Q≥W≥E≥R<T<Y≤U≤I  

Conclusion : 

I. Q≥T 

II.R≤I



In a Certain code NAME is written as 82610 ,than find the code for 

CAR ?

एक निनित कोड में NAME का कोड 82610 निखा गया है तो CAR का कोड क्या

होगा ?

(1) 6216

(2) 6218

(3) 12418

(4) 6412

(5) None of these



In a Certain code LAPTOP is written as 10 ,than find the code for 

MASTER ?

एक निनित कोड में LAPTOP का कोड 10 निखा गया है तो MASTER का कोड

क्या होगा ?

(1) 10

(2) 18

(3) 12

(4) 14

(5) None of these



‘value theme particle around’ is written as ‘tfk dm un ssd’ 

‘song new theme sing’ is written as ‘dj xy tfk src’ 

‘sing loud particle mix’ is written as ‘ssd bt src hnm’ 

‘around theme mix song’ is written as ‘xy un tfk bt’ 

What is the code of ‘around’? / 'Around' का कूर् क्या ह?ै 

1. un 2. dm 3. dj 4. src 5. ssd



Statement: 

Some Scarfs are Handkerchiefs. 

Only a few Frocks are Scarfs. 

Conclusion: 

I. At least some Frocks are 

Handkerchiefs. 

II. All Frocks being 

Handkerchiefs is a possibility.

किन: 

कुछ स्काफट  रूमाल हैं। 

केिल कुछ फ्रॉक स्काफट  हैं। 

क्तनष्कषट: 

कम से कम कुछ फ्रॉक रुमाल हैं। 

सिी फ्रॉक के रूमाल होने की 

सांिािना ह।ै



Statement: 

Some Scarfs are Handkerchiefs. 

Only a few Frocks are Scarfs. 

Conclusion: 

I. At least some Frocks are 

Handkerchiefs. 

II. All Frocks being 

Handkerchiefs is a possibility.



Statement: 

Only a few Gold are Green. 

Some Gold are not Grey. 

Conclusion: 

I. All Gold being Grey is a 

possibility. 

II. At least some Grey are 

Green.

किन: 

केिल कुछ गोल्ि ग्रीन हैं। 

कुछ गोल्ि ग्रे नहीं हैं। 

क्तनष्कषट: 

सिी गोल्ि के ग्र ेहोने की सांिािना ह।ै 

कम स ेकम कुछ ग्र ेग्रीन हैं।



Statement: 

Only a few Gold are Green. 

Some Gold are not Grey. 

Conclusion: 

I. All Gold being Grey is a 

possibility. 

II. At least some Grey are 

Green.



Statements: 

All grill are drill. 

Only few drill are mill. 

Conclusions: 

I. Some grill are mill. 

II. All mill are being drill 

is a possibility.

किन: 

सिी क्तग्रल क्तिल हैं। 

केिल कुछ क्तिल क्तमल हैं। 

क्तनष्कषट: 

कुछ क्तग्रल क्तमल हैं। 

सिी क्तमल के क्तिल होने की 

सांिािना ह।ै



Statements: 

All grill are drill. 

Only few drill are mill. 

Conclusions: 

I. Some grill are mill. 

II. All mill are being drill 

is a possibility.



There is family of seven member having three generations. There are 

more than four females in the family. A is the father of B. L is married to 

the only son of G. L has an unmarried sibling K. B is the nephew of K. C 

is the child of A. G is the mother of A. H is the parent of L. How is K 

related to A?

तीन पीक्त़ियों िाले सात सदस्यों का पररिार ह।ै पररिार में चार से अक्त क मक्तहलाएां हैं। A, B

का क्तपता ह।ै L का क्तििाह G के इकलौते पतु्र से हुआ ह।ै L का एक अक्तििाक्तहत सहोदर K ह।ै 

B, K का ितीिा ह।ै C, A का बच्चा ह।ै G, A की मााँ ह।ै L. K, A से कैसे सांबांक्त त ह?ै

1. Sister - in- law 2. Brother - in- law 3. Son 

4. Daughter 5. Cannot be determined



Six persons (C, D, E, F, J, K) were born on two different dates 5, 12 of three different 

months viz. March, May and September. Only one person was born on one date of a 

month. J was born on the 5th of a month having 30 days. Not more than two persons 

were born between F and E. C was born on an even-numbered date but immediately 

after K. Only two persons were born between J and C. D was born on one of the 

months before E. K was born before F but not after D. At least two people were born 

after F.

छह व्यक्तियों (C, D, E, F, J, K) का िन्म तीन अलग-अलग महीनों की दो अलग-अलग तारीखों 5, 12 

को हुआ िा। माचट, मई और क्तसतांबर। केिल एक व्यक्ति का िन्म एक महीने की एक तारीख को हुआ िा। J 

का िन्म 30 क्तदनों िाले महीने की 5 तारीख को हुआ िा। F और E के बीच दो से अक्त क व्यक्तियों का 

िन्म नहीं हुआ िा। C का िन्म एक सम सांख्या िाली तारीख पर लेक्तकन K के ठीक बाद हुआ िा। J और 

C के बीच केिल दो व्यक्तियों का िन्म हुआ िा। D का िन्म E से पहले क्तकसी एक महीने में हुआ िा। K 

का िन्म हुआ िा F से पहले लेक्तकन D के बाद नहीं। F के बाद कम से कम दो लोगों का िन्म हुआ।



Six persons (C, D, E, F, J, K) were born on two different dates 5, 12 of three different 

months viz. March, May and September. Only one person was born on one date of a 

month. J was born on the 5th of a month having 30 days. Not more than two persons 

were born between F and E. C was born on an even-numbered date but immediately 

after K. Only two persons were born between J and C. D was born on one of the 

months before E. K was born before F but not after D. At least two people were born 

after F.



There are six persons namely A, B, C, D, E and F. They are arranged in descending 

order of their age from left to right. No two persons have the same age. E is 

younger than A but elder to B. B is not the youngest. E is 25 years old. The 

difference of ages of D and E is 20 years. C is the second youngest person. 

If the sum of ages of A and E is 70 and the sum of ages of F and D is 89 years then 

what is the age of D? 

छह व्यक्ति अिाटत ्A, B, C, D, E और F हैं। उन्हें उनकी उम्र के अनसुार बाएां से दाएां अिरोही क्रम में 

व्यिक्तस्ित क्तकया गया ह।ै क्तकसी िी दो व्यक्तियों की आय ुसमान नहीं होती ह।ै E, A से छोर्ा ह ैलेक्तकन B 

से बडा ह।ै B सबसे छोर्ा नहीं ह।ै E की उम्र 25 िषट ह।ै D और E की आय ुका अांतर 20 िषट ह।ै C 

दसूरा सबसे छोर्ा व्यक्ति ह।ै यक्तद A और E की आय ुका योग 70 ह ैऔर F और D की आय ुका योग 

89 िषट ह,ै तो D की आय ुक्तकतनी ह?ै

1. 55 years 2. 20 years 3. 15 years 4. 5 years 5. 10 years



There are six persons namely A, B, C, D, E and F. They are arranged in descending 

order of their age from left to right. No two persons have the same age. E is 

younger than A but elder to B. B is not the youngest. E is 25 years old. The 

difference of ages of D and E is 20 years. C is the second youngest person. 

If the sum of ages of A and E is 70 and the sum of ages of F and D is 89 years then 

what is the age of D? 



A certain number of persons sit in a row facing north direction. Eight persons sit 

between Y and U who sits immediate left of K. J sits 2nd to the left of U. One person 

sits between U and N. Number of persons sit between Y and S is thrice than the 

number of persons sit between J and N. L is the only neighbour of Y. Number of 

persons sit to the right of N is two less than the number of persons sit to the left of N. 

B sits third to the left of J. Y sits immediate right of L .

व्यक्तियों की एक क्तनक्तित सांख्या एक पांक्ति में उत्तर क्तदशा की ओर उन्मखु होकर बैठती ह।ै Y और U के 

बीच आठ व्यक्ति बैठे हैं, िो K के ठीक बाएां बैठा ह।ै J, U के बाएां से दसूरे स्िान पर बैठा ह।ै U और N के 

बीच एक व्यक्ति बैठा ह।ै Y और S के बीच बैठे व्यक्तियों की सांख्या J और N के बीच बैठे व्यक्तियों की

सांख्या से तीन गनुा ह।ै L, Y का इकलौता पडोसी ह।ै N के दायीं ओर बैठे व्यक्तियों की सांख्या, N के बायीं 

ओर बैठे व्यक्तियों की सांख्या से दो कम ह।ै B, J के बायें से तीसरे स्िान पर बैठा ह।ै Y, L के ठीक दायें 

बैठा ह।ै



A certain number of persons sit in a row facing north direction. Eight persons sit 

between Y and U who sits immediate left of K. J sits 2nd to the left of U. One 

person sits between U and N. Number of persons sit between Y and S is thrice than 

the number of persons sit between J and N. L is the only neighbour of Y. Number 

of persons sit to the right of N is two less than the number of persons sit to the left 

of N. B sits third to the left of J. Y sits immediate right of L .



There are 6 persons namely A, B, C, D, E and F. They all are sitting around a circular 

table facing the centre. Each one of them likes a fruit namely, Apple, Banana, Guava, 

Mango, Papaya and Orange but not necessarily in the same order. A likes apples and is 

sitting second to the left of B. The one who likes mango sits between the one who likes 

apple and B. C who likes papaya sits opposite to E. Two persons are sitting between B 

and F. The one who likes guava sits immediately to the left of the one who likes apples. D 

and B do not like mango. D sits second to the right of E and likes orange.

यहााँ 6 व्यक्ति अिाटत ्A, B, C, D, E और F हैं। िे सिी कें द्र की ओर मखु करके एक िरत्ताकार मेि के चारों 

ओर बैठे हैं। उनमें से प्रत्येक को एक फल अिाटत ्सेब, केला, अमरूद, आम, पपीता और सांतरा पसांद ह ैलेक्तकन 

आिश्यक नहीं क्तक इसी क्रम में हो। A को सेब पसांद ह ैऔर िह B के बायें से दसूरे स्िान पर बैठा ह।ै िह व्यक्ति 

क्तिसे आम पसांद ह ैिह सेब पसांद करने िाले और B के बीच बैठा ह।ै C क्तिसे पपीता पसांद ह ैिह E के क्तिपरीत 

बैठा ह।ै B और F के बीच दो व्यक्ति बैठे हैं। क्तिसे पसांद ह ैिह अमरूद सेब पसांद करने िाले व्यक्ति के ठीक बाई ां

ओर बैठा ह।ै D और B को आम पसांद नहीं ह।ै D, E के दायें से दसूरे स्िान पर बैठा ह ैऔर नारांगी रांग पसांद 

करता ह ै



There are 6 persons namely A, B, C, D, E and F. They all are sitting around a circular 

table facing the centre. Each one of them likes a fruit namely, Apple, Banana, Guava, 

Mango, Papaya and Orange but not necessarily in the same order. A likes apples and is 

sitting second to the left of B. The one who likes mango sits between the one who likes 

apple and B. C who likes papaya sits opposite to E. Two persons are sitting between B 

and F. The one who likes guava sits immediately to the left of the one who likes apples. D 

and B do not like mango. D sits second to the right of E and likes orange.



In a bank meeting, the eight bank employees Q, R, U, P, D, H, L, and C hold different positions 

- Managing Director (MD), Executive Director (ED), Chief General Manager (CGM), General 

Manager (GM), Assistant General Manager (AGM), Divisional Manager (DM), Marketing 

Officer (MO) and Clerk but not necessarily in the same order. All the positions are in increasing 

order where Clerk is junior to all and MD is senior to all. U is just one position senior to R. D is 

junior to Q. Q is senior to only three persons. L is neither Chief General Manager nor Managing 

Director. P is senior to Divisional Manager but junior to Managing Director. H is not junior to P. 

D is not the most junior. C is an Executive Director.

एक बैंक बैठक में, आठ बैंक कमटचारी Q, R, U, P, D, H, L, और C क्तिक्तिन्न पदों पर हैं - प्रबां  क्तनदशेक (MD), 

कायटकारी क्तनदशेक (ED), मखु्य महाप्रबां क (CGM), महाप्रबां क (िीएम), सहायक महाप्रबां क (एिीएम), मांिल 

प्रबां क (िीएम), क्तिपर्न अक्त कारी (एमओ) और क्लकट  लेक्तकन आिश्यक नहीं इसी क्रम में हो। सिी पद ब़िते क्रम में हैं

िहाां क्लकट  सिी से कक्तनष्ठ ह ैऔर एमिी सिी से िररष्ठ ह।ै U, R से केिल एक स्िान िररष्ठ ह।ै D, Q से कक्तनष्ठ ह।ै Q 

केिल तीन व्यक्तियों से िररष्ठ ह।ै L न तो मखु्य महाप्रबां क ह ैऔर न ही प्रबां  क्तनदशेक। P, मांिल प्रबां क से िररष्ठ ह ै

लेक्तकन प्रबां  क्तनदशेक से कक्तनष्ठ ह।ै H, P से कक्तनष्ठ नहीं ह।ै D सबसे कक्तनष्ठ नहीं ह।ै C एक कायटकारी क्तनदशेक ह।ै 



In a bank meeting, the eight bank employees Q, R, 

U, P, D, H, L, and C hold different positions -

Managing Director (MD), Executive Director (ED), 

Chief General Manager (CGM), General Manager 

(GM), Assistant General Manager (AGM), 

Divisional Manager (DM), Marketing Officer (MO) 

and Clerk but not necessarily in the same order. All 

the positions are in increasing order where Clerk is 

junior to all and MD is senior to all. U is just one 

position senior to R. D is junior to Q. Q is senior to 

only three persons. L is neither Chief General 

Manager nor Managing Director. P is senior to 

Divisional Manager but junior to Managing 

Director. H is not junior to P. D is not the most 

junior. C is an Executive Director.



Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.

आठ व्यक्ति A, B, C, D, E, F, G और H एक कै्षक्तति पांक्ति में बैठे हैं। उनमें से चार का मखु उत्तर की 

ओर ह ैिबक्तक शेष का मखु दक्तक्षर् की ओर ह।ै G क्तकसी एक अांक्ततम छोर से तीसरा व्यक्ति ह।ै अांक्ततम छोर 

पर बैठे दो व्यक्तियों का मखु समान क्तदशा की ओर ह।ै B और C के मध्य तीन व्यक्ति बैठे हैं। D के पडोक्तसयों 

का मखु समान क्तदशा में ह ैलेक्तकन D के क्तिपरीत ह।ै न तो C न ही D अांक्ततम छोर पर बैठे हैं। E, H के बायें 

बैठा ह,ै िो न तो A और न ही F के आसन्न बैठा ह।ै B, G के क्तनकर् बैठा ह ैऔर उसका मखु दक्तक्षर् की 

ओर ह।ै E, F के आस-पास नहीं बैठा ह।ै A और F एक दसूरे के बायें से दसूरे स्िान पर हैं



Eight persons A, B, C, D, E, F, G and H are sitting in a horizontal row. Four of them 

are facing north while the rest are facing south. G is the third person from one of the 

extreme ends. Two people sitting at extreme ends face in the same direction. Three 

people sit between B and C. Neighbours of D face in the same direction but opposite 

to D. Neither C nor D sit at the extreme end. E sits to the left of H, who sits adjacent 

to neither A nor F. B sits adjacent to G and faces south. E does not sit adjacent to F. A 

and F are second to the left of each other.



Certain number of person are sitting in a row and all are facing north. The number 

of person are sit ahead of Z is in cube number but not more than 10 person. R sits 3 

rd to the right of Z. V sits adjacent to U and W. Y sits 3 rd to the right of X, who 

sits 5 th to the right of T. Y sits an end. Only 6 person sits between R and T, who 

sits 2 nd to the left of U. Not less than 21 people are sit in this row.

कुछ व्यक्ति एक पांक्ति में बैठे हैं और सिी उत्तर की ओर उन्मखु हैं। Z के आगे बैठने िालों की सांख्या घन 

सांख्या में ह ैलेक्तकन 10 व्यक्तियों से अक्त क नहीं ह।ै R, Z के दायें से तीसरे स्िान पर बैठा ह।ै V, U और

W के सक्तन्नकर् बैठा ह।ै Y, X के दायें से तीसरे स्िान पर बैठा है, िो T के दायें से पाांचिें स्िान पर बैठा 

ह।ै Y अांक्ततम छोर पर बैठा ह।ै R और T के मध्य केिल 6 व्यक्ति बैठे हैं, िो U के बायें से दसूरे स्िान पर

बैठा ह।ै इस पांक्ति में कम से कम 21 व्यक्ति बैठे हैं।



Certain number of person are sitting in a row and all are facing north. The number 

of person are sit ahead of Z is in cube number but not more than 10 person. R sits 3 

rd to the right of Z. V sits adjacent to U and W. Y sits 3 rd to the right of X, who 

sits 5 th to the right of T. Y sits an end. Only 6 person sits between R and T, who 

sits 2 nd to the left of U. Not less than 21 people are sit in this row.



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue

छह व्यक्ति P, Q, R, S, T और U एक क्तत्रििुाकार मेि के चारो ओर बैठे हैं। तीन व्यक्ति मेि के प्रत्येक कोने पर बैठते हैं

और शेष मेि की प्रत्येक ििुा के मध्य में बैठते हैं। िे सिी अांदर की ओर उन्मखु हैं और उन्हें अलग-अलग रांग पसांद हैं -

नीला, काला, सफेद, बैंगनी, लाल और हरा। िरूरी नहीं क्तक सिी िानकारी इसी क्रम में हो। T, सफेद रांग पसांद करने िाले 

व्यक्ति के बायें से दसूरे स्िान पर बैठा ह,ै िो U के क्तिपरीत बैठा ह।ै R को लाल रांग पसांद ह।ै R, T और सफेद रांग पसांद 

करने िाले व्यक्ति का क्तनकर्तम पडोसी नहीं ह।ै Q, P के बाएां से दसूरे स्िान पर बैठा ह,ै िो मेि के क्तकसी एक कोने पर 

बैठा ह।ै बैंगनी रांग पसांद करने िाला व्यक्ति काला रांग पसांद करने िाले व्यक्ति के ठीक बाएां बैठा ह ैलेक्तकन P के क्तिपरीत 

नहीं बैठा ह।ै Q को नीला रांग पसांद नहीं है



Six persons P, Q, R, S, T and U sit around a triangular table. Three persons sit at each corner of 

table and rest sit at middle of each side of table. All of them face inside and like different colors 

– Blue, Black, White, Violet, Red and Green. All the information is not necessarily in the same 

order. T sits 2nd to the left of the one who likes White, who sits opposite to U. R likes red. R is 

not an immediate neighbor of T and the one who likes white. Q sits 2nd to the left of P, who sits 

at one of the corners of the table. The one who likes Violet sits immediate left of the one who 

likes Black but not sit opposite to P. Q does not like Blue



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.

दस व्यक्तियों L, M, N, O, P, Q, R, S, T और U का

िन्म पाांच अलग-अलग महीनों- िनिरी, मई, अगस्त, 

अक्रू्बर और 9 या 30 तारीख को हुआ िा (लेक्तकन िरूरी 

नहीं क्तक इसी क्रम में हो)। क्तदसांबर। M और Q के बीच तीन 

व्यक्तियों का िन्म हुआ िा और उनका िन्म एक ही तारीख 

को हुआ िा। M और R के बीच दो व्यक्तियों का िन्म हुआ 

िा, क्तिसका िन्म या तो मई या क्तदसांबर में हुआ िा। R और 

Q के बीच पैदा हुए व्यक्तियों की सांख्या N और T के बीच 

पैदा हुए व्यक्तियों की सांख्या के समान ह।ै T का िन्म 

अक्रू्बर में हुआ िा। S का िन्म L के ठीक बाद हुआ िा, 

क्तिसका िन्म R के बाद हुआ िा। P का िन्म क्तदए गए महीने 

से ठीक पहले हुआ िा िब O का िन्म हुआ िा। U का 

िन्म T से पहले हुआ िा। M का िन्म R के बाद हुआ िा। 

L और S का िन्म एक ही महीने में नहीं हुआ िा। U सबसे 

बडा व्यक्ति नहीं ह।ै



Ten Persons L, M, N, O, P, Q, R, S, T and U 

were born (but not necessarily in the same 

order) on either 9th or 30th of five different 

months- January, May, August, October and 

December. Three persons were born between 

M and Q and they born on same date. Two 

persons were born between M and R, who was 

born in either May or December. The number 

of persons were born between R and Q is 

same as the number of persons were born 

between N and T. T was born in October. S 

was born just after L, who was born after R. P 

was born just before the given month when O 

was born. U was born before T. M was born 

after R. L and S were not born in the same 

month. U is not the eldest person.



Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut

छह व्यक्ति A, B, C, D, E और F एक तीन मांक्तिला इमारत में इस 

प्रकार रहते हैं क्तक ितूल की सांख्या 1 ह,ै इसके ऊपर की मांक्तिल की 

सांख्या 2 ह ैक्तफर सबसे ऊपर की मांक्तिल की सांख्या 3 ह।ै प्रत्येक 

मांक्तिल में 2 फ्लैर् हैं यह फ्लैर्-1 और फ्लरै्-2 के रूप में ह।ै तल-2 

का फ्लैर्-1, तल-1 के फ्लैर्-1 के ठीक ऊपर ह ैऔर तल-3 के 

फ्लैर्-1 के ठीक नीचे ह ैऔर इसी प्रकार आगे िी। इसी प्रकार तल-

2 का फ्लैर्-2, तल-1 के फ्लैर्-2 के ठीक ऊपर और तल-3 के 

फ्लैर्-2 के ठीक नीचे ह ैऔर इसी तरह। फ्लैर् 1, फ्लैर्-2 के पक्तिम 

में ह।ै उनमें से प्रत्येक को अलग-अलग फल पसांद हैं। समान फ्लैर् 

सांख्या में C और अांगरू पसांद करने िाले के बीच एक मांक्तिल का 

अांतर ह।ै A, C के उत्तर पक्तिम में एक सम सांख्या िाली मांक्तिल पर 

रहता ह।ै िह व्यक्ति क्तिसे खबुानी पसांद ह ैिह A के नीचे रहता ह।ै 

िह व्यक्ति क्तिसे केला पसांद ह ैिह C के ऊपर और D के दक्तक्षर्-

पूिट में रहता ह,ै क्तिसे सेब पसांद नहीं ह।ै F को खबुानी पसांद ह।ै D 

और A को सांतरा पसांद नहीं ह।ै E, B के नीचे रहता ह।ै व्यक्तियों में 

से एक को नाररयल पसांद है



Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut



Eight persons A, B, C, D, E, G, H and K sit in a linear row and face north (but not necessarily in the 

same order). All the persons work in a company on different designations viz. MD, CMD, CEO, 

Senior executive, Executive, Manager, Associate Manager and HR. Two persons sit between B and 

the one who is CEO. G who is HR sits third to the right of CEO. K is one of the immediate 

neighbors of HR. The one who is Executive sits exactly between K and the one who is CEO. D sits 

third to the left of the one who is Executive. D sits adjacent to A who is not CEO. Same number of 

persons sit to the left of A and right of the one who is Manager. C and the one who is Senior 

executive are immediate neighbors. Three persons sit between H and the one who is MD. D is not 

Associate Manager. 

आठ व्यक्ति A, B, C, D, E, G, H और K एक रैक्तखक पांक्ति में बैठते हैं और उत्तर की ओर उन्मखु हैं (लेक्तकन िरूरी नहीं क्तक 

इसी क्रम में हों)। सिी व्यक्ति एक कां पनी में अलग-अलग पदों पर काम करते हैं िैसे। एमिी, सीएमिी, सीईओ, िररष्ठ 

कायटकारी, कायटकारी, प्रबां क, एसोक्तसएर् मैनेिर और एचआर। B और सीईओ के बीच दो व्यक्ति बैठे हैं। G िो एचआर ह,ै 

सीईओ के दायें से तीसरे स्िान पर बैठा ह।ै K, HR के क्तनकर्तम पडोक्तसयों में से एक ह।ै िह व्यक्ति िो कायटकारी ह,ै K और 

सीईओ के ठीक मध्य में बैठा ह।ै D उस व्यक्ति के बायें से तीसरे स्िान पर बैठा ह ैिो कायटकारी ह।ै D, A के क्तनकर् बैठा ह ैिो

सीईओ नहीं ह।ै A के बायें और मैनेिर के दायें ओर समान सांख्या में व्यक्ति बैठे हैं। C और िह िो िररष्ठ कायटकारी ह ै

क्तनकर्तम पडोसी हैं। तीन व्यक्ति H और एमिी के बीच बैठे हैं। D एसोक्तसएर् मैनेिर नहीं ह।ै 



Eight persons A, B, C, D, E, G, H and K sit in a linear row and face north (but not necessarily in the 

same order). All the persons work in a company on different designations viz. MD, CMD, CEO, 

Senior executive, Executive, Manager, Associate Manager and HR. Two persons sit between B and 

the one who is CEO. G who is HR sits third to the right of CEO. K is one of the immediate 

neighbors of HR. The one who is Executive sits exactly between K and the one who is CEO. D sits 

third to the left of the one who is Executive. D sits adjacent to A who is not CEO. Same number of 

persons sit to the left of A and right of the one who is Manager. C and the one who is Senior 

executive are immediate neighbors. Three persons sit between H and the one who is MD. D is not 

Associate Manager. 



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.

आठ व्यक्ति F, G, H, I, J, K, L और M एक ही िषट के 

चार अलग-अलग महीनों िनिरी, अपै्रल, निांबर और 

क्तदसांबर में सेक्तमनार में िाग लेते हैं लेक्तकन िरूरी नहीं क्तक

इसी क्रम में हों। सांगोष्ठी महीने की 15 या 25 तारीख को 

आयोक्तित की गई िी। G महीने की 15 तारीख को सेक्तमनार 

में िाग लेता ह ैक्तिसमें केिल 30 क्तदन होते हैं। M और J, 

G से पहले समान महीने में सेक्तमनार में िाग लेते हैं, लेक्तकन 

अपै्रल में नहीं। M, J के बाद सेक्तमनार में िाग लेता ह।ै F के

बाद कोई िी सेक्तमनार में िाग नहीं लेता ह।ै M और K के 

बीच केिल एक व्यक्ति सेक्तमनार में िाग लेता ह।ै H और L 

दोनों अलग-अलग महीनों की 15 तारीख को सेक्तमनार में 

िाग लेते हैं। L क्तदसांबर में सेक्तमनार में िाग नहीं लेता ह।ै L 

और मैं एक ही महीने में सेक्तमनार में िाग लेते हैं।



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.

एक स्टोर में, 8 नडब्बे- A, B, C, D, E, F, G और H एक के ऊपर एक रखे गये हैं; िेनकि जरूरी िहीं नक इसी 

क्रम में हो। प्रत्येक बॉक्स पर 1 से 8 तक एक संख्या निखी गयी है। िंबर 1 शीर्ष पर है, संख्या 8 सबसे िीचे है और 

इसी प्रकार अन्य नडब्बे भी रखे गए हैं।

बॉक्स E को बॉक्स H के िीचे रखा गया है। बॉक्स A िंबर 7 पर है। बॉक्स F िंबर 5 पर िहीं है। बॉक्स B िंबर 4 

पर है। बॉक्स D या बॉक्स C िंबर 1 पर है। बॉक्स G िंबर 3 और 5 पर िहीं है। । बॉक्स F िंबर 2 और 3 पर िहीं है| 

बॉक्स D िंबर 8 पर है।



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.



There are more than ten people sitting 

in a circle. Each of the seats occupied 

by one person. Each of them is facing 

inside the circle.

K is sitting third to L. B is sitting 

second to E. There are two people 

sitting in between E and M. I is an 

immediate neighbour of both J and A, 

but not sitting second to B. D and C are 

sitting second and third to B 

respectively. N is sitting second to M, 

but not seated to C. M is sitting third to 

the right of A. E is sitting third to J.

एक घेरे में 10 से अनिक व्यनि बैठे हैं | 

प्रत्येक सीट पर एक व्यनि बैठा है |उिमें से

प्रत्येक का मुख कें द्र की ओर है |K,L से

तीसरे स्थाि पर बैठा है | B,E से दूसरे स्थाि

पर बैठा है | E and M के मध्य दो व्यनि बैठे

हैं | I,J and A दोिों का निकटतम पडोसी

है, िेनकिB से दूसरे स्थाि पर िहीं बैठा है | D

and C,B से क्रमशः दूसरे व तीसरे स्थाि में

बैठे हैं| N,M से दूसरे स्थाि पर बैठा है

,िेनकि C से दूसरे स्थाि पर िहीं है | M, A 

के दाई ंओर से दूसरे स्थाि पर बैठा है | E,J 

से तीसरे स्थाि पर बैठा है |



There are more than ten people sitting 

in a circle. Each of the seats occupied 

by one person. Each of them is facing 

inside the circle.

K is sitting third to L. B is sitting 

second to E. There are two people 

sitting in between E and M. I is an 

immediate neighbour of both J and A, 

but not sitting second to B. D and C are 

sitting second and third to B 

respectively. N is sitting second to M, 

but not seated to C. M is sitting third to 

the right of A. E is sitting third to J.



Eight people A, B, C, D, E, F, G and H buy different items but not 

necessarily in the same order. Three-person buys items between A and D. 

Two persons buy items between B and A. A buys item immediately 

before G and after C. Two people buy item between H and C. A buys an 

item after B. F buys an item before E. Neither F nor E buys items first or 

last.

आठ व्यक्ति A, B, C, D, E, F, G और H अलग-अलग िस्तएुाँ खरीदते हैं लेक्तकन आिश्यक 

नहीं इसी क्रम में हों। तीन व्यक्ति A और D के बीच आइर्म खरीदते हैं। दो व्यक्ति B और A के 

बीच आइर्म खरीदते हैं। A, G से ठीक पहले और C के बाद आइर्म खरीदता ह।ै दो लोग H 

और C के बीच आइर्म खरीदते हैं। A, B के बाद एक आइर्म खरीदता ह।ै F , E के पहले 

एक आइर्म खरीदता है । न तो F और न ही E पहले या आक्तखरी आइर्म खरीदता ह।ै



Eight people A, B, C, D, E, F, G and H buy different items but not 

necessarily in the same order. Three-person buys items between A and D. 

Two persons buy items between B and A. A buys item immediately 

before G and after C. Two people buy item between H and C. A buys an 

item after B. F buys an item before E. Neither F nor E buys items first or 

last.



Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal 

distances between each other, but not necessarily in the same order. All 

of them are facing north direction. Two people sit between E and C. E 

sits at one of the extreme ends. A sits second to the right of C. B sits 

fourth to the left of F. F is not an immediate neighbor of C. H sits third 

to the left of D. D does not sit at extreme ends.

आठ क्तमत्र A, B, C, D, E, F, G और H एक पांक्ति में एक दसूरे के बीच समान दरूी के 

साि बैठे हैं, लेक्तकन िरूरी नहीं क्तक इसी क्रम में हों। उन सिी का मखु उत्तर क्तदशा की ओर 

ह।ै E और C के बीच दो व्यक्ति बैठे हैं। E क्तकसी एक अांक्ततम छोर पर बैठा ह।ै A, C के दायें 

से दसूरे स्िान पर बैठा ह।ै B, F के बायें से चौिे स्िान पर बैठा ह।ै F, C का क्तनकर्तम 

पिोसी नहीं ह।ै H, D के बायें से तीसरे स्िान पर बैठा ह।ै D अांक्ततम छोर पर नहीं बैठा ह।ै



Eight friends A, B, C, D, E, F, G and H are sitting in a row with equal distances 

between each other, but not necessarily in the same order. All of them are facing 

north direction. Two people sit between E and C. E sits at one of the extreme 

ends. A sits second to the right of C. B sits fourth to the left of F. F is not an 

immediate neighbor of C. H sits third to the left of D. D does not sit at extreme 

ends.



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

िोगों की तीि पीऩियां एक साथ रहती हैं। पररवार में

12 सदस्य हैं अथाषत। एम, एि, ओ, पी, क्यू, आर, एस,

टी, यू, वी, डब््यू और एक्स जो नपकनिक के निए

बाहर गए थे। R और Q, T और S के बच्चे हैं। V, जो

W का ससुर है, R का चाचा है। T का एक बेटा और

एक बेटी है। P, O का पनत है। O, Q की पुत्री है। M,

N का भाई है। R का नववाह U से हुआ है। N का नपता

U है, नजसकी केवि एक पुत्री है। S, U का ससुर है।

W, X की पत्िी है।

पांच में से चार एक निनित तरीके से समाि हैं और

इसनिए एक समूह बिाते हैं। निम्िनिनखत में से कौि

समूह से संबंनित िहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.

एक क्तनक्तित सांख्या में व्यक्ति पांक्ति में बैठे हैं। उन सिी का मखु उत्तर की ओर ह।ै Q, S के दायें

से छठे स्िान पर बैठता ह।ै T, Q के बायें से आगे बैठता ह।ै Q और P के बीच केिल दो व्यक्ति 

बैठते हैं। R, S के बायीं ओर बैठता ह।ै U, S और T के बीच बैठता ह।ै V, U के दायें से दसूरे 

स्िान पर बैठता ह।ै W क्तकसी िी छोर से तीसरे स्िान पर ह।ै S पांक्ति के बाएां छोर से आठिाां ह।ै 

W और V के मध्य छह व्यक्ति बैठे हैं।



A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.



Ten persons are sitting in two parallel rows containing five persons in each row such a 

way that there is an equal distance between adjacent persons. In the first row, A, B, C, 

D and E are seated and all of them are facing north. In the second row, P, Q, R, S and T 

are seated and all of them are facing south. Therefore, in the given seating arrangement, 

each member seated in a row faces another member of the other row. E sits 2nd from 

one of the extreme end of the row. P faces the one who sits 2nd to the right of E. D sits 

2nd to the left of B, who does not sit at the extreme end. Two persons sit between S and 

Q. R sits immediate left of S. C sits next to B. 

दस व्यक्ति दो समानाांतर पांक्तियों में बैठे हैं क्तिनमें प्रत्येक पांक्ति में पाांच व्यक्ति इस प्रकार बैठे हैं क्तक आसन्न 

व्यक्तियों के बीच समान दरूी ह।ै पहली पांक्ति में, A, B, C, D और E बैठे हैं और उन सिी का मखु उत्तर की 

ओर ह।ै दसूरी पांक्ति में, P, Q, R, S और T बैठे हैं और उन सिी का मखु दक्तक्षर् की ओर ह।ै इसक्तलए, दी गई 

बैठने की व्यिस्िा में, एक पांक्ति में बैठे प्रत्येक सदस्य का मखु दसूरी पांक्ति के दसूरे सदस्य की ओर ह।ै E पांक्ति 

के क्तकसी एक अांक्ततम छोर से दसूरे स्िान पर बैठा ह।ै P का मखु उस व्यक्ति की ओर ह ैिो E के दायें से दसूरे 

स्िान पर बैठा ह।ै D, B के बायें से दसूरे स्िान पर बैठा ह,ै िो अांक्ततम छोर पर नहीं बैठा ह।ै S और Q के बीच 

दो व्यक्ति बैठे हैं। R, S के ठीक बाएां बैठा ह।ै C, B के बगल में बैठा ह।ै



Ten persons are sitting in two parallel rows containing five persons in each row such a 

way that there is an equal distance between adjacent persons. In the first row, A, B, C, 

D and E are seated and all of them are facing north. In the second row, P, Q, R, S and 

T are seated and all of them are facing south. Therefore, in the given seating 

arrangement, each member seated in a row faces another member of the other row. E 

sits 2nd from one of the extreme end of the row. P faces the one who sits 2nd to the 

right of E. D sits 2nd to the left of B, who does not sit at the extreme end. Two 

persons sit between S and Q. R sits immediate left of S. C sits next to B. 



Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.

P स ेV तक सात व्यक्ति एक बैठक 

कक्ष में आते हैं। V, Q के ठीक 

पहले आया। R और S के बीच 

केिल तीन व्यक्ति आए। S, P के 

ठीक बाद आया। कोई िी P और 

Q के बीच ऐसा नहीं आया क्तक Q, 

P स ेपहल ेआए। केिल एक व्यक्ति 

R और T के बीच में आया।



Seven persons from P to V 

come in a meeting room. V 

came just before Q. Only three 

persons came between R and S. 

S came immediately after P. No 

one came between P and Q such 

that Q came before P. Only one 

person came between R and T.



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.

कुछ क्तिजबे एक के ऊपर एक रखे हुए हैं। बॉक्स D को 

बॉक्स B के नीचे रखा गया ह ैलेक्तकन बॉक्स B के 

ठीक नीचे नहीं रखा गया ह।ै बॉक्स D को बॉक्स J 

और बॉक्स K के ठीक बीच में रखा गया ह।ै बॉक्स E 

को बॉक्स H के ऊपर रखा गया ह।ै बॉक्स F को 

बॉक्स B के क्तनकर् नहीं रखा गया ह।ै बॉक्स G को 

ठीक नीचे रखा गया ह।ै क्तिजबा K. क्तिजबा I ढेर के 

शीषट पर नहीं ह।ै बॉक्स B के ऊपर तीन बॉक्स हैं। J 

और I के बीच तीन बॉक्स हैं। बॉक्स A और बॉक्स J 

के बीच दो बॉक्स हैं। बॉक्स C, बॉक्स F के ठीक 

ऊपर रखा गया ह।ै बॉक्स B और बॉक्स K के बीच 

दो बॉक्स हैं। क्तिजबा G और क्तिजबा F के मध्य दो 

क्तिजबे हैं।



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.


